1 HFEHH
2 REHH
3 BEERHRER

1,76044
1,70244

65[m]

6 ENEREOR:
(ERI30ES5~7A%)
EABNTERIKER
TRE30%E 7H31BR%E
[#73R 66214 B 85114 XNZERE 2214 LA 2644
ERBEERE o ]
[#73R 66144 BE 7954 RNERE 22244 LA 2414
ERBMEERTE o ]

4 1R-2RYUEDHERRUVEER
D 1R-2RHFDIER

gy | BEXE1 | BEXE2 | BN | ENE2 | ENE3 | B4 | ENES =X
1T R H F 79 248 169 355 218 145 263 201 1,678
2 R ¥ E 22 205 146 396 256 182 240 231 1,678
EAEERTE 0 3 4 4 4 4 3 2 24
R EE B 22 208 150 400 260 | 186 243 | 233 1,702
B Bt 1.3 12.2 8.8 235 15.3 10.9 14.3 13.7 100.0
2 xR ¥ F
Y EBEXE1 O EXE2 BEN#E1 ENE2 ENE3 EN#EL ENES &5t
JEE% Y 20 44 3 12 0 0 0 0 79
EXE1 2 159 20 67 0 0 0 0 248
y EXE2 0 2 108 54 5 0 0 0 169
R ENE 0 0 15 262 70 7 1 0 355
| ENE 0 0 0 1 176 39 2 0 218
# :
= ZiS 0 0 0 0 4 125 16 0 145
ENE4 0 0 0 0 1 11 205 46 263
ENEES 0 0 0 0 0 0 16 185 201
& &t 22 205 146 396 256 182 240 231 1,678
QFEFEXRE
EE-¥IEHH EEHEHHK ETEE
1,678 438 26.1 %
EE _ -4 . _—3 _—2 _—1 +0 _+1 _+2 _+3 _ +4 —
BB | GOS| Eas | sces | s LEGL sinp | winn | wn | B
0 0 1 51 1,240 289 84 13 0
5 ENE(EXR)REEH (ERBETAIIBRAEEXRAS)
EXE1 EXIE2 gewEag EN#E1 | ENE2 ENE3 ENH#E4 ENES g
F1EHRRSE 1,128 867 0 1,830 1,306 1,054 1,091 911 8,187
6585 L1 £ 758 ki 128 100 0 168 147 74 84 90 791
758 Lk 1,000 767 0 1,662 1,159 980 1,007 821 7,396
F2EWRERE 11 23 0 27 41 10 22 32 166
it 1,139 890 0 1,857 1,347 1,064 1,113 943 8,353
ALt 13.6 10.7 0.0 22.2 16.1 12.7 13.3 11.3 100.0




6 EENBREEONR:

(FRLSOEERET
BT ERKR
TEH30E 7H31BIRTE

1 BFEHH 2,303+ [H#R 855(% B 116 ROKE 2961+ $xA 3644
ERMEGEA AR Of ]
2 RBEHH 22724 (#8774 BH 10714 EHEE 2904 BRA 34t
ERREGERE o ]
3 FERHEHR 86[a]
4 1R 2RHEDHRRUVEER
@D 1R-2RHFDIER
s | EXE1 ExiEe BNE1 BENE2 BENES ENE4 BAES [ A3
T R ¥l & 95 341 222 448 284 214 357 277 2,238
2 R ¥ FE 28 273 195 502 334 257 337 312 2,238
EAESRE 0 4 6 8 5 5 4 2 34
B & & 28 277 201 510 339 262 341 314 2272
®_ M It 1.2 12.2 8.8 22.4 14.9 11.5 15.0 13.8 [ 100.0
2 R #H %
ki  BXE1 ExiEe ENE1 BENE2 BNES ENE4 ENES | A
N 26 52 3 14 0 0 0 0 95
EXIE1 2 218 31 88 2 0 0 0 341
1 |Ex®e 0 3 141 71 7 0 0 0 222
% |ENE 0 0 20 328 90 9 1 0 448
p |ENE2 0 0 0 1 229 52 2 0 284
= |[ENES 0 0 0 0 5 183 26 0 214
Z1rik4 0 0 0 0 1 13 283 60 357
Z{ 385 0 0 0 0 0 0 25 252 271
& &t 28 273 195 502 334] 257 337  312] 2,238
@EFRE
EE-FIEHH EEAH PEES
2,238 578 25.8 %
zx [+ [ 3 -2 -1 +0 +1 +2 +3 a
Wa | TR s | e | e | EEAL | 5 | B | aus | Eds
0 0 1 69 1,660 382 109 17 0
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